TARGET :CGL-CHSL-MTS - CPO
PENGLISH | :
SSC CGL/MTS SPECIAL

*CLOZE TEST *ERRORDETECTION
eFILLIN THE BLANK

PREVIOUS YEAR QUESTIONS
STIfIC 31061l AARY 6T LEVEL

BY NITIN MAHENDRAS («) QB | 07:30 PM



STUDENT’S CORNER

| B S Masti 17 hours ago & Vvishnu Gupta 19 hours ago Aishika Ghosh 20 hours ago o ar‘lu-sharma 19 hours ago
Dddd-ddddd = Opt-D right ans r DD‘L D DDTJC'I_I d
Wery nice session sir thank you si .
| e 'GP Reply e 1 G Repw
e’ OGP Reply e ' GH Repy - —
Py S 1 I - (7= « 1 reply w =) - 7 reply
foupe, . \‘ -__; - re
v X _,--‘IrEpI‘jr a " Aish i Tripathy 19 h
. MISHTHA SHUKLA 19 hours tshwaryarant Tnpathy i
o Fragya 16 hours ago o D is carrect
Correct option = DDDDD
e ' P Repy o 2 o i
e ' GV Reply =
e Lo e T repl
v (Z=) « 1reply o P
v (=)= 1reply -
Pooia . i 19 n ~ Shekh 11 hours ago
Puja Som 18 hours ago o Ofks Jangie 1= nenrs =ae D
D) He asked her why she had give Option D ]
‘ . g] Reply I‘ I L.E_/D Reply
e ' GF Reply | o
— - =) - 1 repl
- :"‘&} « 1 reply ey Py
- Farocoqui..... 17 hours ago o
Opt D . ) p Soumadeep Das 20 hours ago
a Rituparna Biswas 20 hours agl O
. answer-
e ' GF Reply r option d
et 1 Reply
- &+ 1reply e P Reol e 1
i - (7= « 1 reply
q-"'i-'.-k - T
Surbhi Sinha 17 hours ago N 1 reply
Homewaork question answer o] MO AMAS CHAUDHARY 20 hour
Kawvita Werma 12 hours ago
Ddddddd

il 1 O Renly

Opt.D is correct



<YYYY
<5 Yy

-

B \
AL

m‘

¢

ERROR DETECTION




Q.1. The main purpose of the visit (1)/ is to

develop a close relationship (2)/ among the two

countries. (3)/ No error (4)

Answer: (¢)
For two persons or things between ....... should be used.



Q.2. My brother’s (1)/ ability of acting (2)/ was

recognized at a very young age. (3)/ No error (4)

a) ability of acting
b) was recognized at a very young age.
¢) My brother’s

d) No error

Answer: (A) ability to act (infinitive) ... should be
used.



ERROR DETECTION
BASED ON ADVERB




Q.3. (A) You have almost (B) reached

at (C) your goal. (D) No error

(B) REMOVE AT
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Q4. (A) Ram is (B) very poor (C) to help
you. (D) No error

(B) Replace 'very poor' with 'too poor'. Remember:
'Too' means 'more than enough' while 'very' is
used to simply make the adjective or adverb

stronger.



Q.5. (A) I work (B) quicker (C) than
he. (D) No error

(B) is the correct answer. Replace 'quicker'
with 'more quickly'. 'work' is a verb.
So, an adverb form of 'quick' is

required.



Q.6. (A) It is (B) very hot (C) to go out.
(D) No error

(B). Replace 'very hot' with 'too hot'.
Remember: 'Too' means 'more than
enough' while 'very' is used to simply
make the adjective or adverb

stronger.



Q.7. (A) You are (B) too (C) proud. (D) No

€rror

(B). Replace 'too' with 'very'. Remember: 'Too'
means 'more than enough' while 'very' is
used to simply make the adjective or adverb

stronger.
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8. He has no time (a) / to read magazines (b)

/ and no desire neither (c¢) / No error (d)

(c) Replace ‘neither’ by ‘either’



9. He has not seldom (a) / visited his parents
(b) / since he left this place (¢) / No error

(d)

(a) Delete ‘not’



10. It was much hot (a) / yesterday and we
(b) / didn’t go out (c¢) / No error (d)

(a) Replace ‘much’ by ‘very’
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11. I meet him often (a) / near (b) / the
Town Hall (¢) / No error (d)

(a) Replace ‘meet him often’ by ‘often meet him’



12. I told her (a) as blunt as I could (b) / but

she was not convinced (c¢) / No error (d)

(b) Replace ‘blunt’ by ‘bluntly’



13.When I got (a) / home I was (b) / too

exhausted (c) / No error (d)

(c) Replace ‘too’ by ‘very’



14. 1 did not know hardly (a) anyone in the
city (b) / and so felt lonely (c¢) / No error (d)

(a) Replace ‘did not know hardly’ by ‘hardly
knew’



15. I rarely find something (a) / in the movies

(b) / that is worth remembering (c) / No error

(d)

(a) Replace ‘something’ by ‘anything’



16. You have (a) / acted nobler (b) / than all

of us (¢) / No error (d)

(b) Replace ‘nobler’ by ‘more nobly’
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CLOZE TEST




During organized tours in Germany, tourists can (1)
a former Nazi compound 40 kilometres from
Berlin (2) the ‘Forbidden City’. Around Twenty
thousand people visit this place (3) year to

learn about Nazi military history. The Nazis (4)

militarily active at the compound, which was kept (5)
in a forest and behind a fence. They hid

underground bunkers in country homes, and they planned
much of World War II here.

17. Select the most appropriate option for blank No.1.

@) visit (b)travel  (c)trip (d) stay"SVer (8) visit



During organized tours in Germany, tourists can (1)
a former Nazi compound 40 kilometres from
Berlin (2) the ‘Forbidden City’. Around Twenty
thousand people visit this place (3) year to

learn about Nazi military history. The Nazis (4)

militarily active at the compound, which was kept (5)
in a forest and behind a fence. They hid

underground bunkers in country homes, and they planned
much of World War II here.

18. Select the most appropriate option for blank No. 2.

(@) calling (b)calls (c)call (d) calldé@swer: (d) called



During organized tours in Germany, tourists can (1)
a former Nazi compound 40 kilometres from
Berlin (2) the ‘Forbidden City’. Around Twenty
thousand people visit this place (3) year to

learn about Nazi military history. The Nazis (4)

militarily active at the compound, which was kept (5)
in a forest and behind a fence. They hid

underground bunkers in country homes, and they planned
much of World War II here.

19. Select the most appropriate option for blank No.3.

(a) whole (b)one (c)every (d) allAnswer: (c) every



During organized tours in Germany, tourists can (1)
a former Nazi compound 40 kilometres from
Berlin (2) the ‘Forbidden City’. Around Twenty
thousand people visit this place (3) year to

learn about Nazi military history. The Nazis (4)

militarily active at the compound, which was kept (5)
in a forest and behind a fence. They hid

underground bunkers in country homes, and they planned
much of World War II here.

20. Select the most appropriate option for blank No. 4.

(a) was (b) has been (c) have beednsw¢d) Wereere



During organized tours in Germany, tourists can (1)
a former Nazi compound 40 kilometres from
Berlin (2) the ‘Forbidden City’. Around Twenty
thousand people visit this place (3) year to

learn about Nazi military history. The Nazis (4)

militarily active at the compound, which was kept (5)
in a forest and behind a fence. They hid

underground bunkers in country homes, and they planned
much of World War II here.

21. Select the most appropriate option for blank No.5.

(a) mysterious (b) holy (c) sadmesiver:(d) comeealed



FILLERS BASED ON
ADVERB
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Q22. She was indulged in
this affair.

A. selfish

B. bad

C. sudden

D. seriously

Correct Option: D



Q23. His brother was upset

about missing the chance.
A. terrible
B. terribly

C. major

D. quietly

Correct Option: B



Q24. The years rolled by

A. hurried

B. hurryingly
C. fastly

D. quickly

Correct Option: D



Q25. Your theorems are correct.

A. absolute
B. serious
C. bad

D. absolutely

Correct Option: D



Q26. This car is

A. quietly
. surprising

reasonable

~Iol-

reasonably

Correct Option: D

affordable.
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Q27. You do not come to

meet me.

A. usual
. oftenly

general

~Iol-

usually

Correct Option: D



Q28. I stumbled and injured myself

A. late
B. hard
C. bad
D. badly

Correct Option: D



Q29. To that serious question, she

replied

A. innocent
B. innocently
C. vicious

D. victorious

b. innocently




Q30. He performs his charitable job

A. heavily
B. innocently

C. dangerously

D. virtuously

Correct Option: D



D Home Work

His essay is

A. completely
. complete
halfly

. completion

Mol

done.
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D Home Work Answer T

He said, “Why did you give up your job?”

a) He asked her why you gave up the job.

b) He demand to know why she gave up job.
¢) He requested her why she gave up the job.
d) He asked her why she had given up her job.
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